3. {5YLH

-5 ) )
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B4 B0 X AR AR A O ) | R i 57)

(HA7:mg/L)

7 T4 wE™ wE™ wE™ WS WS
i XET A —R 204 204 204 204 204

Hit X 4 FIRTET = &5 | FIRIETE &5 | FAIRTE 515 | FAETE 515 | FIRETE &5
Hu X 5 1190 1190 1190 1190 1190
HEEZ 000100 000200 000300 000400 000500
FEFREE (m) N N N TEH TEH
&R EBHF EBHF EBHF EBHF EBHF
H&X Sy 4 ERAK — iR aR A — iR aR A — iR aR A — iR aR A
BKFEAH H25. 4.2 H25. 4.2 H25. 4.2 H25.4.2 H25.4.2
/KIE(°C) 1.0 1.5 10.5 9.5 5.5
HRUREFE (mS/m) 15.0 8.8 10.9 1.0 7.1

pH 6.6 6.4 6.5 6.4 5.4
=3 * 0.012 < 0.005 < 0.005 < 0.005 < 0.005
i XHTA+ 44 wWE™ wWE™ 7KET 7K HET 7K HET
i XET A —R 204 204 461 461 461

Hit X 4 FIRTET = &5 | FIRTRT = &G &7 E Z 5 Z 75
Hu X 5 1190 1190 0140 0160 0160
HEEZ 000600 000700 000100 000100 000200
FEFREE (m) N N 65.0 Nz 90.0
&R EBHF EBHF FHFE TEH EBHF
FHIEIX 5y —H R A —H R A HERAK —H R A ASERK
BKFEAH H25. 4.2 H25. 4.2 H24.8.13 H24.8.13 H24.8.13
/KIE(°C) 8.0 1.0 16.0 17.0 18.0
HRUREFE (mS/m) 10.3 12.7 14.8 16.4 16.7

pH 6.6 6.5 7.0 7.1 6.8
=3 < 0.005 < 0.005 * 0.030 < 0.005 * 0.018
i XHTA+ 44 7KET 7K HET 7K HET 7K HET 7K HET
T XHETA = — R 461 461 461 461 461
HiX 4 &7 E #&rE Z Tk &7 e ETE
HX 5 0140 0140 0160 0140 0090
HPEE 000200 000300 000300 000400 000300
H R (m) EN:z 80.0 40.0 60.0 40.0
A/ SIOR) TEH EBHF TEH EBHF TEH
X5y — i8R — i8R — AR A 4ERAK — i8R
PKEHH H24.8.13 H24.8.13 H24.8.13 H24.8.13 H24.8.13
KIR(C) 15.2 24.0 16.2 16.0 16.8
ERUREHE (U S/cm) 170 181 191 173 171

pH 6.1 6.8 6.3 6.8 6.7
=5 < 0.005 # 0.005 < 0.005 * 0.015 < 0.005
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B4 B0 X AR AR A O ) | R i 57)

(HA7:mg/L)

- 208 -

7 X T4 7K ET 7 IKHET 7 IKHET 7 IKHET 7 IKHET
i KT ff 2 — R 461 461 461 461 461
Hit X 4 ®’rE ®’rE ®’rE 775 Z 7l
H X 0140 0140 0140 0160 0160
HEES 000500 000600 000700 000400 000500
F G (m) N:E 36.0 51.0 T~ N
& RIFF TBA EHRE TBA TBA TBA
P& 5y —he R A —he R A —he R A —he R A —he R A
BAKFEH B H24.8.13 H24.8.13 H24.8.13 H24.8.13 H24.8.13
KIRCC) 17.0 20.7 15.5 23.0 15.5
BRIREE (Y S/cm) 25.8 17.3 20. 6 19.5 19.5
pH 6.3 6.8 6.6 6.8 6.8
=== < 0.005 # 0.006 < 0.005 < 0.005 < 0.005
7 X T4 7K ET 7 IKHET

i XET A —R 461 461

H1 X4 Z /7 tiE

H X 0160 0150

HEES 000600 000100

F G (m) ~BA 5.0

& RIFF TBA EHRE

FHIEIX 5y —H R A HESERK

BAKFEH B H24.8.13 H24.8.13

KIRCC) 17.0 14.9

BRZEHE (Y S/cm) 20.7 18.1

pH 6.9 6.7

=== < 0.005 * 0.015



1543 B0 i X R A AR A (SR i 57)

(HA7:mg/L)

i XHTA+ 44 ®iR™ ®iR™ ®iR™ ®iR™ ®iR™
XA A= —F 201 201 201 201 201

Hit X 4 BZOvY BZOwvs BZOwvs BZOwvs BZOwvs
H X 0020 0020 0020 0020 0020
HEES 005600 006100 006200 006300 006400
F G (m) 80.0 92.0 N:E 70.0 T~
&R FHFE RHF TEH FHFE TEH
H&X Sy AFERAK AFERAK —H R A AFERAK Z Dfih
BAKFEH B H24.10. 17 H24.10. 17 H24.10. 17 H24.10. 17 H24.10. 17
KIRCC) 14.6 15.0 16.8 14.5 18.6

B RIREZH(mS/m) 22.0 23.0 23.0 17.0 8.0

pH 7.1 6.9 6.8 1.2 1.3
A==y ¥ 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
lLth: =R ES < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
ik =t/ ~— < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-rmax i < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/muxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-/muxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N) 7=z < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-N)7mma=x < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
N 7oaxsFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FTh7maFL < 0. 0005 # 0.0012 # 0.0030 < 0.0005 < 0. 0005
1,3-Yr7murmaly < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
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1543 B0 i X R A AR A (SR i 57)

7 X T4 £iRT £iRT
i XET A —R 201 201
WX 4 BJOv, B7OwY
H X 0020 0020
HEES 006500 006600
F G (m) 30.0 87.0
& RIFF RHPF RHPF
&KX Sy —he R A 4 ERK
BAKFEH B H24.10. 17 H24.10. 17
KIRCC) 15.0 16.2
BRAZEHE(MS/m) 13.0 18.0
pH 6.5 6.7
A==y ¥ 04 < 0.002 < 0.002
lLth: =R ES < 0.0002 < 0.0002
WAL = LE ) ~v— < 0.0002 < 0.0002
1,2-rmax i < 0.0004 < 0.0004
1,1-7uuxFlL < 0.002 < 0.002
1,2-7uuxFlL < 0.004 < 0.004
1,1,1-F)rma=xy < 0. 0005 < 0. 0005
1,1,2-N)rmax < 0. 0006 < 0. 0006
N 7oaxsFL < 0.002 < 0.002
FhIr7oaxFL < 0. 0005 < 0.0005
1,3-Yr7murmaly < 0.0002 < 0.0002
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(HA7:mg/L)



